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N= 400 LR=1258.1(df=10)

agegroup > young

(residuall = 0.068 )
residual2 = 0.049
residual3 = 0.043
residual4 = 0.055
residual5 = 0.037

vari = 0.082
cov = -0.011
vars = 0.499
meani = 5.017

(means = -0.142 )
N= 200

(residuall = 0.048 )
residual2 = 0.069
residual3 = 0.053
residual4 = 0.039
residual5 = 0.048

vari = 0.104

cov =0.028

vars = 0.674
meani = 1.941

\means = -0.494 )
N= 100

N= 200 LR=40.9(df=10)
training in[ 0 ]

(residuall = 0.042)
residual2 = 0.049
residual3 = 0.053
residual4 = 0.063
residual5 = 0.011

vari = 0.085
cov =-0.044
vars = 1.629
meani = 2.005
\means = -1.084 )
N= 100
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N= 200 LR=40.9(df=10)

training in[0 ] [yes

(residuall = 0.048 ) (residuall = 0.042)
residual2 = 0.069 residual2 = 0.049
residual3 = 0.053 residual3 = 0.053
residual4 = 0.039 residual4 = 0.063
residual5 = 0.048 residual5 = 0.011

vari = 0.104 vari = 0.085
cov =0.028 cov =-0.044
vars = 0.674 vars = 1.629
meani = 1.941 meani = 2.005
\means = -0.494 ) \means = -1.084 )

N= 100 N= 100



